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Dividing Polynomials Using Synthetic Division

Use synthetic division to divide the polynomial by the linear factor.

1.(3 + Tx +2) + (x + 2) 2. (25 + 7x = 15) + (x + 5)
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Period Date

Directions: Now that you understand the concept of population density, use a calculator to figure out
the population density of the places below. Answer all the questions below to the best of your ability.

1. What is the population density of China? gl people per square mile 13219598
Population: 1,321,851,888 ‘ H514°\ L
Area: 5,795,162 square miles

2. What is the population density of the US? __©72 .2 people per square mile 20\13aa4]
Population: 301,139,947 S6a2 A9
Area: 5,692,955 square miles

3. What is the population density of Monaco? 217225 % people per square mile 3200\
Population: 32,671 i VL

Area: 1.2 square miles \j

4. What is the population density of Canada? __% ) people per square mile 330 %0500
- Population: 33,056,500 2P BH 0% D

Area: 3,854,085 square miles

5 Which of the four countries above has the highest population density? Which has the lowest?
Highest - Lowest - - ‘

6. Which country has the largest land area? Which has the smallest?
Largest - MON0.CO Smallest - CoNOAO~

7. What is the population density of Wyoming ? S ,0%  people per square mile W41 182
Population: 493,782 g\ ¥
Area: 97,818 square miles '

8. What is the population density of Pennsylvania ? 2. L. people per square mile 127 %\ 05"
Population: 12,281,054 _ WO S5
Area: 46,055 square miles
9. Which state has a higher population density? Pennsylvania or Wyoming?

PernsU\v oo A
Now turn to pages A10-A1l in your textbook. Look at the population density map and answer the

questions below.

10. Which two countries appear to have the largest areas of high population density? (Hint: If you
don’t know which countries they are look at the world map on pages A4-A5 to find out.)

11. The area around which city in the United States seems to have the highest population density?



oss Section Worksheet Form A Cross Section Worksheet Form A

ane Date _ 3 A cross-section is cut from the 4 A cube with a cylinder cut from its
ass/Grade circular cone below. center {s cut along the plane shown
: below.
A square pyramid Is cut along the 2 A cube with a cylinder cut from its
shaded plane shown below. center is cut along the plane shown
below.
Which of the following is the
cross-section of this solid?
Which of the following Is the What Is the shape of the ® ®
cross-section of this solid? cross-section?
® Square O
® .
Semicircle
Which of the following s the . © Triangle :
& . cross-section of this solid? © Circle® - © ....,._] @
g ® & |
@ .
@ © (@)
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